Subject: Array question
Posted by rkj on Thu, 13 Sep 2001 19:27:01 GMT

View Forum Message <> Reply to Message

| have a 3D array that | need to reformat to a 2D
array, but | don't think | can use REBIN because
the third dimension needs to be grouped with the
first.

arr(60,80,100) needs to be arr(6000,80)
Any ideas without loops?

KJ

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=1358
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=14226&goto=26580#msg_26580
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=26580
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

